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B %W 1 T H 266 259 301 560| T~ #WiET5 T H 552 538 524 1,062[%7 #7 7 T H 1,303 1,535 1,409 2,944k ART3 T H 231 261 220 481
B W2 T H 372 345 373 T18(T - #EET6 T H 381 367 385 7520% BT 8 T H 684 772 645  1,417[/0 B 4,782 4,939  5,006] 9,945
B W 3 T H 292 318 299 617 i 9, 757 9, 838 9,638 19,476/%F BT 9 T H 1,294 1,338 1,082 2,420/ "R B1T H 90 90 91 181
P45y ET 1T H 148 145 133 278[%k e 604 626 647 1,273 K JKHEI1 T H 111 85 102 187| %27 H 342 354 361 715
795y ET 2 T H 101 92 75 167|% L BT 1 T H 397 458 439 897(FK /A M1 2 T H 521 537 528 1,065 " f=E3T H 292 296 321 617
794y BT 3 T H 126 142 160 302(%F L BT 2 T H 721 698 722 1,420 2 9,794 10,615| 9,727| 20,342| {24 T H 124 109 116 225
fE T iy 288 256 263 519\ L HT 3 T H 1,526 1,376 1,377 2, 753 BT 1T H 810 792 827 1,619~ fRZE5T H 89 101 93 194
A T 414 384 389 773(%F L W74 T H 805 777 730 1,507 0 BT 2 T H 310 323 284 607R 1 T H 85 67 69 136
fif iy 194 181 176 37K M 1 T H 930 1,028 959 1,987 L BT 3T H 245 250 249 499 H 2 T H 107 114 106 220
I T 130 106 116 222k P 2 T H 355 402 413 815[{ i MT 4 T H 794 694 692 1,386/} 3 T H 114 108 95 203
7 T iy 183 216 200 416k M 3 T H 755 856 865 1, 721[R D BT 5T H 794 709 731 1, 440H & A H] 147 133 147 280
HE 1} 417 385 433 818|th i 449 426 491 917|350 BT 6 T H 1,248 1,201 1,209 2,410/ & 1 T H 50 41 35 76
K » W Hr 512 515 519 1, 0344 53 520 561 554 1, 115|330 BT 7 T H 1,156  1,032| 1,104| 2,136\ & 2 T H 62 57 54 111
W/ bk HT 302 263 274 537K B F 1T H 271 304 308 612[{ i W8 T H 837 860 719]  L579|81 & (L 39 53 60 113
N Gl ) 517 497 498 995K B T 2 T H 285 336 342 678 BT 9 T H 944 771 873 1, 650/ it 1, 541 1,523 1,548 3,071
HmfmELTH 191 178 182 360(4 ¢ 1 T H 637 836 807 1, 643[{r A ET10 T H 1,004 812 766 1,578|% M 1 T H 288 209 237 446
HmfimE2T H 253 237 263 500(4 sF 2 T H 173 233 229 462 5 8,142  7,450|  7,454| 14,904|% [ 2 T H 84 85 76 161
HmfHE3T B 336 370 354 7245 F 3 T H 410 518 459 9TT|HE B L T B 183 176 193 369|= [ 3 T H 165 134 119 253

2k 5,042 4,889 5,008 19,8975 F 4 T H 621 715 710 1,425 K& 2 T H 1,084 1,241 1,201 2,442/ @ K1 T H 111 98 101 199
B oA BT 1T H 235 254 256 5104 5 T H 557 639 647  1,286[# 1% 3 T H 382 374 399 13N AR2T B 44 48 50 98
|ﬁl§’nj AHT2 T H 353 352 345 697 2k 10,016 10,789 10,699 21,4884 1 T H 1,415  1,424| 1,463| 2,887/ & AR3TH 167 174 166 340
B A RT3 T H 213 234 251 485(H H MfE 1 T H 492 411 471 882[4 HH 2 T H 1,072 1,043 1,092  2,135/h K4 T H 209 146 202 348
E W1 T H 711 669 637 1,306 H M2 T H 829 743 749 1,492|5 J# 3 T H 850 906 880 1,786/ A5 T H 77 72 83 155
E W2 T H 754 804 808 1,612 H M3 T H 1, 151 1,057 1,088 2,145|4 H 4 T H 0 0 0 O[E W1 T H 168 152 145 297
E W3 T H 404 450 444 B4R H it 4 1T H 799 636 672 1,308/4 J 5 T H 160 47 136 183/ W2 T H 244 257 234 491
E W4T H 798 765 859 1,624 H M5 T H 1,057 962 981 1,943 &t 5,146 5,211 5,364| 10,575/ R 3 T H 225 155 191 346
E W5 T H 531 501 527 1,028\ & #E 6 T H 417 433 384 817|/)n il 56, 141| 56,303| 55,586| 111,889[/) B 1,782 1,530 1,604 3,134
E e T H 228 220 248 4681k » i 1 T H 403 381 383 7640 1 T H 361 380 354 T34 AL T H 202 150 200 350
E W7 T H 495 480 398 BT8R » i 2 T H 860 639 792 L4318 2 T H 396 405 414 B9k A2 T H 211 204 151 355
E W8 T H 287 297 270 567(Ff (i BT 1 T H 355 401 380 781 3 T H 467 482 463 945k A 3 T H 104 110 103 213
E W9 T H 3 4 3 7\ i BT 2 T B 812 869 867 1,736|F0 HHET 1T H 201 218 203 421[f A4 T H 53 44 48 92
K HE 1T H 337 330 316 646|Fh (i BT 3 T H 593 582 526 1, 108|F0 HHEF 2T H 285 275 304 579[f A5 T H 67 60 69 129
KHEHE 2T H 332 293 286 579kl [id] BT 4 T H 476 397 403 800(#fE #F 1 T H 183 211 215 426[p% A 6 T H 36 37 34 71
K HEHE3T H 358 383 359 742 it 8,244  7,511| 7,696| 15,207|HE 4 2 T H 213 219 264 483[pk A7 T H 65 61 61 122
KHEHB 4T H 322 368 345 713% BT 1 T H 1,275 1,377 1,344 2,721 4% 3 T H 194 203 213 416[p% A 8 T H 86 95 71 166
K HE 5T H 315 338 339 6778 M7 2 T H 867 916 840 1,756 %5 4 T H 229 249 233 482|/)5 3t 824 761 737 1,498
T #EHETL T H 662 652 666| 1,318[% Wr 3 T H 1,557| 1,588 1,455 3,043|iE 4% 5 T H 567 637 685  1,322|H 8RBT & F| 8,929 8,753| 8,895 17,648
T #HET2 T H 560 568 555|  1,123[%F WT 4 T H 737 762 759| 1,521k 4% 6 T H 575 624 550 1, 174|& & 65,070 65,056 64, 481| 129, 537
T WEHT3 T H 427 509 400 909(%r M7 5 T H 1,343 1,588 1,451 3, 039|fl A BT 1T H 359 387 380 767
T W4T H 499 462 417 879(%r M7 6 T H 102 117 112 220l AT 2 T H 521 388 508 896




